[bookmark: _GoBack]HOMEWORK due Thursday, May 8th.  Please leave on my desk before Homeroom.
1. Finish the following questions:
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‘The table alongside compares the mass at
birth of some guinea pigs with their mass,
when they were two weeks old.
2 What was the mean birth mass?
b What was the mean mass after
two weeks?

€ What was the mean increase over
the two weeks?

N . | Mass ‘Mass
Guinea Pig | ‘Wi | 50
A 75 210
B 70 200
C 80 200
D 70 220
E T4 215
F 60 200
G 55 206
H 83 230
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The table shows the length of newborn babies at
2 hospital over a one week period.

Find the approximate mean length of the newborn
babies.

Length (mm) | frequency
400 to 424 2
425 t0 449 7
450 to 474 15
475 10 499 31
500 to 524 27
525 to 549 12
550 to 574 1

575 to 509
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 The table shows the petrol sales in one day by
‘2 number of city service stations.

b

‘How many service stations were involved
in the survey?

Estimate the total amount of pefrol sold
for the day by the service siations.

Find the approximate mean sales of petrol
for the day.

Thousands of litres (1) | frequency
2000 to 2099 1
3000 to 3999 4
4000 to 4999 9
5000 to 5999 14
6000 to 6999 23
7000 to 7999 16
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stogram illustrates the results of an
aptitude fest given to a group of people
seeking positions in a company.

a  How many people sat for the fest?

b Find an estimate of the mean score
for the test.

¢ What fraction of the people scored less than 100 for the test?
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If the top 20% of the people are offered positions in the company, estimate the

‘minimum mark required.
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30f frequency.

2 ‘The histogram shows the weights
10 | (inke)of a group of year 10
oL 1. students at a counry high school.
W S0 s w0 6 7078
weight (kg)

How many students were involved in the survey?
Calculate the mean weight of the students.

How many students weigh less than 56 kg?

‘What percentage of students weigh between 50 and 60 kg?

If a student was selected at random, what would be the chance that the student
weighed less than 60 kg?
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Find 2 if 5, 9,11, 12,13, 14,17 and = _have a mean of 12.
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A sample of 12 measurements has a mean of 16.5 and a sample of 15 measurements has.
a mean of 18.6. Find the mean of all 27 measurements.
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‘Towards the end of season, a basketballer had played 14 matches and had an average of
16.5 goals per game. In the final two matches of the season the basketballer threw 21
goals and 24 goals. Find the basketballer’s new average.
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51 packets of chocolate almonds were opened
and their contents counted. The following table
gives the distribution of the number of choco-
Iates per packet sampled.

Find the mean, mode and median of the distri-
bution.

“Number in packer

BRERLB Y

nu;awmof






o
P £ 5,0,11,12,13, 14,1710 5 bav  mesn o 12

@

@

w
ot o s et (T
wEnL P




